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3EIuEHA & Folop] 1,600 1,600 0
1. 0o 1,600 1,600 0
4. [Z]FolEstu w S 22d 3 (7] 2 8}l w08l = s @0 0
1.95% 440 440 0
2. 05| 180 180 0
3. 5 AA 100 80 80 0
5.[Z %501 &3l w20 SH( L 74 B < b sk EHE) 900 0
1. WS- 900 900 0
6. [Z]FATHAATFEA(HEZ) 2,000 2,000 0
1. WS- 2,000 2,000 0
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1.95% 400 400 0
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3. AR FF711) 400 400 0
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A P A (8E) S 1 -480,000Y ~480.000
x]1nl=
2. 9953 1,600 1,600 0
4. [FF 15X L7 A A A A = 2,035 2,035 0
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TANAAZ7IDE LA ;504,000 %13]= 504,000
3. [Z1A A dRke 15,130 6,930 8,200
1. dk8-1) 11,230 6,630 4,600 :ﬁ(}iiijjm + (300,0001+103]) - 1,500,000
AELTTEFAR] Ul
;)E—E;;;&)O;: (1,000,000 4.5 1500000
29189 =] 800,000 27)= 1,600,000
2. WA P EA] ] 300 300 0
3. HIETGH] 3,600 0 3,600 | ¥ &7 1,200,000 #3th= 3,600,000
4. (]384 3 352 352 0
1. kg0 352 352 0
5.[%]192 e 2,500 2,500 0
1. g Rk=8H 2,500 2,500 0
6. (213058717 #e 450 450 0
1. g Hk=8-H 300 300 0
2.95H]| 150 150 0
7 =]MAE ST 2 £248 0 3,000 6,200 -3,200
1. dnkpgn) 3,000 6,200]  -3,200 g%ﬁ% + (2,200,00040%)) -2,200,000 -2,200,000
A : 1,000,000 %14 = -1,000,000
8. [Z1stuAlA ke 1,000 0 1,000
1. dHkE8n) 1,000 0 1,000 | SFA B 2RE : 100,0009)#104]= 1,000,000
9. [Z]1SFu A A AN A A= 1,624 0 1,624
1. dHkE8n) 1,624 0 1,624 ﬁi%ggi‘fjﬁg A 1,160,000
(AHA 2F)AH 2T E 1 46,4009 +107]= 464,000
10.[2]e=xa24 98,000 0 98,000
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1. dnkpgn) 2,200 0 2,200 ;ﬁ Eﬁ-ﬁ)i Feel % 2 600,000 600,000

3 =\ wW oAl .

gf;ggixﬂ g 2 AH5AEH 20,000 1,600,000

2. 95 600 0 600 | (3 HH_25) A 1 150,000 #435]= 600,000
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